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MANAGEMENT AND
COST ACCOUNTING
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Part Two:
Cost accumulation for inventory valuation and profit
measurement
Chapter Three:

Cost assignment

3.1a 59"
§
Assignment of direct and indirect costs f

« Direct costs can be specifically and exclusively identified with a given cost
object — hence they can be accurately traced to cost objects.

« Indirect costs cannot be directly traced to a cost object — therefore
assigned to cost objects using cost allocations.

« Cost allocations = process of assigning costs to cost objects that involve
the use of surrogate rather than direct measures.

« Surrogates known as allocation bases or cost drivers.

« For accurate cost assignment,allocation bases should be significant
determinants of the costs (i.e.cause-and-effect allocations).
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.
Assignment of direct and indirect costs f

« Allocation bases that are not significant determinants of the costs are
called arbitrary allocations (.result in inaccurate cost assignment).

« T additional costing systems use arbitrary allocations to a significant extent
whereas more recent (ABC)systems rely mainly on cause-and-effect
allocations (see Fig.3.1 on sheet 3).

3.2a 5
.
Different costs for different purposes f

* Manufacturing organizations assign costs to products for:

[

Inventory valuation and profit measurement.
2. Providing information for decision-making.

» For inventory valuation and profit measurement the aim is to allocate
costs between cost of goods sold (COGS)and inventories:

1. Accurate individual product costs are not required — only an accurate
allocation at the aggregate level between inventories and COGS.
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3.20)] Vi

Different costs for different purposes »
« For decision-making more accurate product costs are required.

« Different cost information is required for inventory valuation and decision-
making but most companies use a single database and extract different
costs for different purposes.

« Companies can choose to maintain their database using costing systems
that vary on a continuum from simplistic to sophisticated (the choice should
be based on costs versus benefits criteria — See Figure 3.2 on sheet 3).

3.3a ‘{59’

FIGURE 2.1
Cost allocationz and cost fracing
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3.4a

Assigning indirect costs using blanket overhead rates

» Some firms use a single overhead rate (i.e.blanket or plant-wide) for the

organization as a whole.

Example
Total overheads

Direct labour (or machine hours)

Overhead rate

£900 000
60 000
£15 per hour
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3.4b

* Assume that the company has 3 separate departments and costs and hours are
analysed as follows:

Dept. A Dept. B Dept. 2 Total
Onverheads £Z000000  £600000 £ 100 (W) ES0H Q0
Direct labowur hours 20000 20000 20 00k G0 O
Onverhead rate per DLH £10 £30 £5 £15

« Product Z requires 20 hours (all in department C)
Blanket overhead rate charge = £300 {20 hrs = £15)

Separate departmental overhead rate

charge =£100 (20 hrs = £3)

Separate departmental rates should be used since product Z only consumes
overheads in department C.

3.4c

« A blanket overhead rate can only be justified if all products consume
departmental overheads in approximately the same proportions:

Product X spends 1 hour in each department and product Y spends 5 hours
in each department (Both blanket and departmental rates would allocate
£45to X and £225 to Y).

« If a diverse range of products are produced consuming departmental
resources in different proportions separate departmental (or cost
centre)rates should be established.
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5] 7

Cost centre overhead rates £ L )

* Where a department contains a number of different centres (each with
significant overhead costs)and products consume overhead costs for each
centre in different proportions,separate overhead rates should also be
established for each centre within a department.

« The terms cost centres or cost pools are used to describe allocation to
which overhead costs are initially assigned.

« Frequently cost centres/cost pools will consist of departments but they
can also consist of smaller segments within departments.

3.6a

The two-stage allocation process & - )

« To establish departmental or cost centre overhead rates a
two-stage allocation procedure is required:

Stage 1 — Assign overheads initially to cost centres.
Stage 2 — Allocate cost centre overheads to cost objects

f{

(e.g.products)using second stage allocation bases/cost drivers.
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FIGURE 3.3
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(a) Traditional costing systems

3.7a

An illustration of the two-stage process for a traditional costing system
« Applying the two-stage allocation process requires the following 4 steps:

1. Assigning all manufacturing overheads to production and service cost
centres.

« Steps 1 and 2 comprise stage one and steps 3 and 4 relate to the
second stage of the two-stage allocation process.

« Note that in the third stage above traditional costing systems mostly use
either direct labour hours or machine hours as the allocation bases.

T L T
Coit Coat Cont 2. Reallocating the costs assigned to service cost centres to production
i s e cost centres.
it ) Fhasrimvn . 3. Computing separate overhead rates for each production cost centre.
4. Assigning cost centre overheads to products or other chosen cost
objects.
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i ._ f
The annual overhead costs for a company which has three production centres and
two service centres (Materials procurement and General factory support) are as
follows:
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3.8b

The following information is also available
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To allecate the overheads listed above o the production and service centres we
sk prepae an overhesd analysis sheet.

3.9a [

So e
Basis uf i w Assennldy Materials Lermral
lzem ofexpenditure allecation Toml  centre X cenese ¥ Procurement Eactary
suppt
4] [t 12] (1] [E2] i
Diirect GUE0000 | 000000 1000000 | SO0000 Lwoooog 1480000
Diirect 14320000 E0dano BOADDN 000 1 o
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Area 1ann 300000
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i Buuk value
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Salaries o wods Number of
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Feallocation of
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costs
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3.10

FIGURE 3.3
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3.13

Budgeted overhead rates

1.Delay in product costs if actual

Example

Estimated annual activity

Manth
1
:d overheads £2Zm
Activity (hours) 0.2m
Hourly overhead £10

rate

Estimated annual fixed overheads

« Actual overhead rates are not used because of:

annual rates are used.

2.Fluctuating overhead rates that will occur if actual monthly rates are used.

=£24 mi n
= 2.4 million hours

Activity varies throughout the vear as indicated below:

Manth Month  Month  Anouaal
z 3 Tastal
£2m £2m £2m £24m
01lm 0.4m 0.3m Z4Am
£20) £5 £0.67 £10

EXHIBIT 3.3 An Bustration of cost assignment with an ABG system
(continued)
EXHIBIT 3.3 An ilustration of cost assignment with an ABC system o putadnn of s woids
m 2 @ “ sl o
(] (] o - [} Aoy ACTIFTY COF! O A OF S0 Crantir ol coer Actwy oos: SO CoR
Arsaty Aty Actity couaf e Cuntily of actiely enal  Astty coal denar mis am ariver v iy v isod by aagod o asgned o
anet it O pUsls ot o 700 wlly of ot ol A protuct
€ Co Jatory Pt A proccl 8 fom, 2= Col B Lol 2 % ol &
v Mnerining acvey contim & 01 45 par o S0 houe 2 (03 heurs e 2 uTo0e
Mictarnang, iy o & 10 000 H 1 485 pae P Mastining aawry serto B 240 0ot hau 1000 hours. 4 DO heurs 28000 0 Me0.00
Macturang actiersy cartra i e mn 1 29 5t s £1.28 5t haim 1 00 b 4 003 hawrs 1 fan 00 £ 06000
Asmeichy L4000 Mot ol chect Mbous hoars  £000 000 dheect leb houns 1 4 oo o Porchasin; cumpononts €04 por ankr 1 comgonant | pemmenait o o400
T Rocaking componans. €120 peer moalt 1 GmEDn 1 companant 12000 0
Materialy procurament nothiue. Lk & pruduction ey | irdhocticn e B0 ke
Farchasing cmponatn - ’ U e ot q 5 Spudetion e produsien s 250000 B0000
Pauming componans w00 00 Huarsben of reaternd s 5 00K Fecmes. €13 par e S sty 50 pvr el i St 18 st fraun 25000 0000
Cniuri et 2 e Camily im £200 par irwpection 1 imspmction { I
(T ot oxwahed o nsmE 0500
Garamal lwery S ay Linis oo 100 s 200 umie
Broution w kg 1000 000 1 . Dot esl por i RiO5E 0103
Sat i mactenes. 00 000 Muben of 5o hown 1 ) wet-ap beors 50 por st hour e st pr ot . 1) 000
ity inpecton 00 Mumber ' > Tt o pae U of s T T
1800860
Torl ot oo ol et et o rmy. Moot
cticas 117ma 00 o o t
Use with Management and Cost Accounting 7e Use with Management and Cost Accounting 7e
by Colin Drury ISBN 9781844805662 by Colin Drury ISBN 9781844805662
© 2008 Colin Drury © 2008 Colin Drury

Budgeted overhead rates

* An estimated normal product cost based on average long-run activity is
required rather than an actual product cost (which is affected by month-to-
month fluctuations in activity).

« - therefore use estimates of overhead costs and activity over a long-
run period (typically one year)to compute overhead rates
(i.e.£10 per hour in the above example).
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3.14 i’{
Under-and over recovery of overheads
«If actual activity or overhead spending is different from that used to

compute the estimated overhead rates there will be an under or over
recovery of fixed overheads.

Example

Estimated fixed overheads = £2 million

Estimated activity = 1 million direct labour hours
Overhead rate = £2 per DLH

3.14 i{

« Assume actual activity is 900 000 DLH 's and actual overheads are £2 million:

Overhead allocated to products =£1.8 million
(900 000 x £2)
Under-recovery = £200 000

« Assume actual overheads are £1 950 000 and actual activity is 1 million DLH 's:

Overhead allocated to products = £2 million
(1 million x£2)
Over-recovery =£200 000

« External financial accounting principles (GAAP) require that under/over
recoveries are treated as period costs.
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« Financial accounting regulations specify that only manufacturing overheads
should be allocated to products.

« Non-manufacturing costs should be assigned to products for decision-making
(Particularly cost-plus pricing).

« Simplistic methods,such as using direct labour hours,or a percentage of total
manufacturing cost,are frequently used as allocation bases with traditional
systems.

Non-manufacturing overheads

Example
Manufacturing cost = £1 million
Non-manufacturing overheads = £500 000

Overhead rate = 50%of manufacturing cost
« Simplistic methods do not provide a reliable measure of the
non-manufacturing overheads consumed by products.

« ABC is advocated for providing a more accurate measure of

resources consumed by products.
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